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DEFENCE AND STRATEGIC STUDIES

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

1. Which one is not
element of a State ?

(A) Territory
(B) Resources
(C) Government

(D) Population

theories and key actors :
List—1 List—11

(@) Liberalism
and States

(b) Realism

States

Match the following in respect of

(i) International
Organizations

(i) International
System and

fundamental 3

(c) Radicalism (iii) Social Classes 4.

and Inter-

national Elites

(d) Constructi-

vism Collective

Identities

Codes :

@ () () (@
(A) (i) (@) (@v) (i)
B) (@) (i) (i) (iv)
(€ (v) (i) (@) (i)
(D) (i) (i) (iv) (V)
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(iv) Individuals and

Match the names of the Army Chief
(Table-1) with their respective war
fought under their generalship (Table
I1) and choose the appropriate codes.

Table -1 Table-11
(@) PS Thapar (i) 1965 war
(b) JN (if) 1962 war
Chaudhuri
(c) KM (iii) Bangladesh
Cariappa liberation war
(d) SHFJ (iv) Indo-Pak war
Manekshaw on Kashmir
Codes :
@ (b) () (d)
(A) (i) () (v) (i)
(B) (iii) (i) () (i)
(€ (v) () (ii) (i)

(D) (i) (i) (iv) (@0

Bhutan shares international border
with which of the following group of
countries ?

(A) China, Nepal, India, Bangladesh
(B) Bangladesh, Nepal, China

(C) Chinaand India

(D) China and Bangladesh

Which of the following is symbolic
to Sino-Pak nexus ?

(A) Lhasa-Golmo Rail Link
(B) Karakoram Highway
(C) Ledo Road

(D) Gartok Air Base
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TeTT Ud TATA e Sreaa=

g — |11

AT T WTATH H UEER (75) Tg-Toehedia wee € | TS U % ¥ (2) 3 € | Wt v aitrard €

1. Ffefed 5 9 o9 9@ 6 a9 & 7 3

HeH el § 2
(A) &=

(B) HErgd
(C) WHR

(D) SHEE

2. o Wi mer sEEd % Gt §

ffafed %t gaferd i
= - | = -
(a) T/RAER (i) SR
T 31T
g
(b) =z (i) SFRIEE
Ot 3T
T
OREGE (iii) Grefe &t
3R AL
AT o

(d) TEIEEER  (iv) SR 3R

qYfesh Tear

@ (® «© (@

(A) (i) (@) (@v) (i)

(B) (@) (i) (i) (iv)

(€ (v) (i) () (i)

(D) (i) (i) (iv) (7)
J-11-13

At d-Teastt (Amferel-1) o 3T
TATETE @ gC A T FEI (QACTHRI-1I)
% T GAIT HIT AR T Fe
WW:

= - |

(@) dEE. 9w

= - 1
(i) 1965 1 I&
(b) St =R (i) 1962 T IF
(c) wud. (iii) STeTReT TR
FHRITOT I5
(d) TETATES. (iv) FIHR FH TR
HAHHIE U I
FT
@ () () ()
(A) (i) () (v) (iii)
(B) (iii) (i) (i) (iv)
(C) (iv) () (i) (i)
(D) (i) (i) (v) (i)

=1 3R & e # foRed e |
foeret & 2

(A) =, qUTe, TR, SRS
(B) dTeIRE, AU, T
(C) ¥ 3R 9Ra

(D) = 3R TRy

frafafed & ¥ &R FF-wfeae
T § UThaTal € 2

(A) T Mot I foteh

(B) IR TSTHRT

(C) werds

(D) TRI® TR S9
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Which Strait on the globe has the
maximum flow of oil transport ?

(A) Beb-el-mandeb
(B) Strait of Malacca
(C) Strait of Hormuz
(D) Suez Canal

Assertion  (A) Because of
globalization the sovereignty
principle has been eroding
considerably.

Reason (R) : The expenditure on
fencing of international borders
in recent time has been
increased enormously.

Codes :

(A) Both (A) & (R) are true, but
(R) is contradictory to (A).

(B) (A) is true, but (R) is false.

(C) Both (A) and (R) are false.

(D) (A) is false, but (R) is true.

Assertion (A) : A State refrain from
taking aggressive action using
its first strike capability
because of the concept of
MAD.

Reason (R) : If opponent has second
strike capability, the deterrence
can be successful.

Codes :
(A) (A) is true, but (R) is false.

(B) (A) and (R) both are correct
and (R) is the proper
explanation of (A).

(C) (A) and (R) both are correct,
but (R) is not the proper
explanation of the (A).

(D) Both (A) and (R) are false.
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10.

Match the Table — | and Table — II
related to Major Arms Control
Agreements and Years.

Table -1 Table-11
(@ Chemical Weapons (i) 1996
Convention

(b) ASEAN  Nuclear (ii) 1999
Weapon Free Zone
Treaty

(c) Antipersonnel
Landmines Treaty

(d) Treaty on (iv) 1993
Conventional
Armed Forces in
Europe

Codes :

@ (b)) () ()
(A) (v) () (i) (i)
(B) () (i) (i) (iv)
(C) (i) (i) (v) ()
(D) (i) (i) () (iv)

(iiii) 1990

Assertion (A) : Non-alignment still
continues to be an option as
independent foreign policy of a

country.

Reason (R) : Non-alignment is still
relevant  in  contemporary
scenario.

Codes :

(A) Both (A) and (R) are true and
(R) is the logical conclusion of
(A).

(B) Both (A) and (R) are false and
(R) is the logical conclusion of
(A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.
J-11-13



fova & 9 @El § ¥ 99 s O
T STETTHT &l & 2

(A) &9 T Hed
(B) W< 3i% Heteh
(C) T i e
(D) T T

AfUHeT (A) : ITEHOT FH HROT
WO H G W B a%
FST TS WETE |

7 (R) i B S
el W S FH 6 F
AR TG T |

FT:

(A) (A) 3 (R) T Wl &, e
(R), (A) % Ufdshet & |

(B) (A) Tl &, ifh (R) T & |

(C) (A) T (R) T Tore & |

(D) (A)Trer &, Tk (R) Wl & |

Afwe (A)  TH T (FE) HUROT
& HRO [T AT UIH WER
&I Bl 3TShTHE & H YT hid
30 TR Tehel1 € |

7 (R) . 7ty faRredt & e fyd
TWER JHAT & o FARET TRl &l
HHATE |

(A) (A) Tl &, wieh (R) Torel & |

(B) (A) ¥R (R) 5Hi Wl & iR (R),
(A) F TG AT T |

(C) (A) 3R (R) IHI W&l €, e
(R), (A) =l T =me @i & |

(D) (A) 3T (R) T Tord & |
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10.

T I A R AT 3% a9
Hatyd  difeterl-I 3T dlfeTeR-Il - i
WW:
et — |
(@ w@EA
NS
T
(b) smfEE=

TRHT]
I

& 9ty

(c) =i foRrelt (i) 1990
-G WY

d) =TT H  (iv) 1993
TRAR®

ittt — 11
(i) 1996

(i1) 1999

TIE A
wfy
FHT

@ (b «© (@
(A) (v) () (i) (i)
(B) () (i) (i) (iv)
(€ @) (i) (v) (@)
(D) (i) (i) (@) (v)

afirpe (A) : el <o w @A
foeer AT & &7 # e FRUE
3T ot U forehed & |

& (R) . g uReeE
e FRUETAT STt off GEITA € |
FT:

(=N

(A) (A) @R (R) SHI W € 3R (R),
(A\) 1 A1 Fepe & |

(B) (A) 3R (R) 3 Teid & 2R (R),
(A) T diiehes T ¥ |

(C) (A) Tl &, Afh (R) T & |
(D) (A) 7Terd &, e (R) el & |
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11.

12.

13.

14.

Which of the following statements is
not applicable to the traditional
concept of National Security ?

(A) Itis a State-centric.

(B) It emphasizes power in military
sense.

(C) It defines security in terms of
external threats.

(D) It emphasizes the security of
individuals.

The four elements of the State are

(A) Population, Territory, Army
and Sovereignty
(B) Government, Population,

Sovereignty and President

(C) Population, Territory,
Government and Sovereignty

(D) Population, Bureaucracy,
Government and Territory

Three of the following thinkers
belong to a particular school of
thought. Identify the person, who is
NOT in this group.

(A) H.J. MacKinder
(B) Alfred Mahan

(C) E.B.Haas

(D) Nicholas Spykmann

“Operation PARAKRAM” refers to
military deployment at

(A) India-China Border

(B) India-Bangladesh Border

(C) India-Pakistan Border

(D) India-Sri Lanka Oceanic region

Paper-I111

15.

16.

Match the following events (Table-I)
with the year of their occurrence
(Table-11) and choose the appropriate
code.

Table- 1 Table - 11
(@) Glassboro Summit (i) 1972
between US &
Soviet
(b) SALT-1 (if) 1992-93
(c) Disintegration of (iii) 1967
Soviet Union
(d) Iragi invation of (iv) 1990
Kuwait
Codes :
(@ (b) (c) (d)
(A) (i) () (v) (iii)
(B) (@) (v) (i) (iii)

(C) i)y (@) (i) ()
(D) (i) (i) (v) (i)
Match the following books (Table-I)

with their respective authors (Table-
I1) and choose the appropriate code.

Table -1 Table — 11
(@ Himalayan (i) J.L.
Blunder Nehru
(b) India (if) Stephen
China War Cohen
(c) Discovery (iii) Neville
of India Maxwell
(d) India: The (iv) J.P. Dalvi
Emerging
Power
Codes :

@ () () (@

(A) (v) (i) (i) (7)

(B) (iv) (i) (i) (i)

€ @) @) @ (v)

(D) (i) (iv) (i) (i)
J-11-13



11. TEE gRT 6 URURE GhHeTT W
frfafad 5 @ i @1 wu N 1@l
BT § 2
(A) TE TT-HETE |
(B) & Afte W # wiferd W &t T
g

(C) & <Tel WeRi &' gite & gR&T
R St € |

(D) I AT Tl YT T T ST € |

12. T %R o &

(A) STFEE, &, T ST TET

(B) W&HR, SHEEN, WIE 3R
rezgfet

(C) ST, &, THR ST g

(D) STEEAT, ehTRE, AXHR 3T &

13. TfarEd § | dF foame U o
foeio o & | 39 =afad = fafera sif,
ST 39 9HE % el §

(A) TES, AfheT
(B) 3T%hE e

(C) z&zw

(D) FTRleTd TTEHH—

14, ‘SNRIE WEHA’ H T Fel & A
A A F 2
(A) YRA-I G
(B) WRA-SeARST FrAT
(C) vRa-uifeher Fra
(D)  TRA-SiicieT T WS &

J-11-13

15.

16.

AMARI-1 § <t T g1 7 AlfeTshl-11 §
fa m afeq g9 ot Tt @ e
3T Fe H T H
afetent — |
T (i) 1972

(a) wgw
T Eicy
wfgga @9 &
ey TATHERT i
TergTamar
(b) W1 (i) 1992-93
(c) wfema da @& (iii) 1967
forere

et — 11

(d) Fod W TEH H - (iv) 1990
TSHHTT

%
@@ () (© ()

(A) (i) () (v) (iii)

(B) () (iv) (i) (iii)

(©) (i) () (i) (iv)

(D) (i) () (v) (i)

frefefed Qe (@difetsr-1) & 3%

e (AIfeTRI-11) & Fafera ST 3K

Yo e 1 T HINT ;

Attt — | aferet — ||

(a) fermeram (i) ST, TE
ST

(b) Sfean (ii) ST B
EIERLCIES

(c) femper (iii) Aferet
31T grear TGt

(d) e . T (iv) S Tt

ST ATe
——

(=N

@ () ( (@)
(A) (iv) (i) (i) (i)
(B) (iv) (i) () (i)
(C) (i) (i) (@) (iv)
(D) (i) (iv) (i) (i)
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17.

18.

19.

“The desert was tactician’s paradise
but Quartermaster’s hell.” Relate the
statement with the concerned military
campaign :

(A) The Burmese Campaign

(B) The Battle of Kasserine Pass
(C) The North African Campaign

(D) The Battle of Hydaspes (326
B.C.)

Match the following military leaders
with battles in Indian Military
History.

(a) Battle of Khanwa (i) Alexander
(b) Battle of Hydaspes (ii) Babar

(c) Battle of Tarain
(d) Battle of Panipat I (iv) Prithviraj

Chauhan
Codes :
@ () (© (@
(A) (i) (iv) (1) (i)
(B) () (i) (iv) (i)
(€ (i) (i) (@) (iv)
(D) (i) () (v) (i)

Choose the appropriate code for the
following treaties in their ascending
chronological order.

(A) Partial Test Ban Treaty; Outer
Space Treaty, Non-
proliferation Treaty; Threshold
Test Ban Treaty

(B) Outer Space Treaty, Non-
proliferation Treaty, Partial
Test Ban Treaty, Threshold
Test Ban Treaty

(C) Non-proliferation Treaty, Outer
Space Treaty, Partial Test Ban
Treaty; Threshold Test Ban
Treaty

(D) Threshold Test Ban Treaty,
Outer Space Treaty, Non-
proliferation Treaty, Partial
Test Ban Treaty

Paper-I111

(iii) Rana Sanga

20.

21.

Match the following  Military
Commanders with their respective
battles/war :

(a) Battle of Gazala (i) Gen.J.S.
Line (1942) Arora

(b) Battle of Lyte (ii) Admiral

Gulf (1944) Nimitz
(c) Korean War (iii) Gen.
(1950) Montgo-
mary
(d) Bangladesh War (iv) Gen. Mac
(1971) Arthur
Codes :
@ (b) () (d)
(A) () (i) (iv) (i)

(B) (i) () (i) (iv)
(€ @) (i) @v) (@)
(D) @) @) (@) (v)

Match the following boundary lines
with their respective countries :

(@) 17" Parallel (i) USA  and

Canada
(b) 49" Parallel (ii) Germany and
Poland
(c) 38" Parallel (iii)North  and
South
Vietnam
(d) Hindenburg (iv) North  and
Line South Korea

Codes :
@ (b) () (d)
(A) (i) (i) (v) (i)
(B) (@) (i) (ii) (iv)
(€ (@) (i) (iv) (i)
(D) (i) (v) () (i)
J-11-13



17.

18.

19.

“TEEIT G o [T @il & i
FICTAR & [T T5”, 3@ HIT B
(A) wHi 135

(B) hETE U FH I

(C) ST 3ThIH T I

(D) eTESHIT H 5 (326 TY.)

frefetiaa dfe sl & 9

T e & J51 9 GAfed ST :
= - | =it - 11

(@ @Har & (i) STl
g5

(b) ETESHUE
Rl

() WA @
g5

(d) UFIE W

g5-1

(i) a7

(iii) 7o |

(iv) RSt
EIidE]

ET4

(=N

@ (b «© @
(A) (i) @v) @) (@)
(B) () (i) (iv) (i)
(€ (i) (i) @) (v)
(D) (i) () (@v) (i)

=1 |t & 3% d8d g FHoshd &

T SUgeRT Fe T T A

(A) IR e 97 fer; 3msey Wy
fedt, A-mfeTRRE 221, Ivmies
T 22

(B) oRX wWH fr, AH-MfeTwEH
fodr, uRtme e s\ T
IEIeS o o fedt

(C) ATy fedt, amser wod
g, WRime e s\
IEIeS X o fedt

(D) 9vEles X o et M= WY
fedt, AT feer; TR
T 3 fedt

J-11-13

20.

21.

Frfefiga @ HHS T 39 Gerad
= - | =t - 1
(@) TITeT (i) S Ret Stua.
[SIEG)
AT
(1942)

(b) Tl To® (i) TeiRe
H ASE e

<

(1944)
(c) HRaE (iii) et
TF (1950) e IR E=Ed)
(d) srewRS (iv) SR ¥
TF (1971) 3T
—

« .

@ (b «© (@
(A) () (i) (iv) (i)
(B) (i) () (i) (iv)
(€ @) (@) @v) ()
(D) @) @) (@) (v)

et I @ret & 39 getud
9T & Al il
= - | = - 1
(a) 17aT. (i) guET &R
HAFR TS
(b) 49at (ii) ST 3
HAFR Teie
(c) 3sat (i) T 3
FHFATAR gheTot
IERLEICE
(d) Feert (iv) ST 3R
1G] ZfeTotr whiftan
—

£ -

@ () (¢ ()

(A) (i) (@) (v) (i)

(B) () (i) (i) (iv)

(€) (@) (i) (v) (i)

(D) (i) (v) () (i)
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22.

23.

24,

Arrange the following Secretary
General of United Nations in
ascending chronological order.

(A) U. Thant, Boutros Boutros
Ghali, Kofi Annan, Ban Ki
Moon

(B) Ban Ki Moon, Kofi Annan,

Boutros Boutros Ghali, U.
Thant

(C) Boutros Boutros Ghali, U.
Thant, Ban Ki Moon, Kofi
Annan

(D) Boutros Boutros Ghali, Ban Ki
Moon, U. Thant, Kofi Annan

Match the following Table | & Table

Il in respect of International Political

Economy.

Table -1

(a) Rise of OPEC

(b) First transboarder
electronic link
between stock
exchanges

(c) NAFTA established (iii) 1973

Table - 11
(i) 1994
(ii) 1985

(d) World Trade (iv) 1995
Organization
replaced GATT

Codes :
@ (b) () (d)

(A @) (i) (i) (iv)

(B) (i) ) @) (V)

(C) (v) () (i) (i)

(D) (i) () (v) (iii)

Assertion (A) : The fall in oil prices
in 2009 severely affected the
revenue of the middle east oil
producers.

Reason (R) : It is because of
increase in oil revenue of Iraq
and Oman.

Codes :

(A) (A) is true, but (R) is false.

(B) Both (A) and (R) are false.

(C) Both (A) & (R) are true.

(D) (A)is false, but (R) is true.
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25.

26.

27.

Choose the appropriate code of
Assertion (A) and Reason (R).

Assertion (A) : Indian Constitution
Is the largest and most detailed
Constitutional document
produced in the world.

Reason (R) : It includes even

provisions relating to
administrative details.
Codes :

(A) Both (A) and (R) are false.

(B) Both (R) and (A) are true and
(R) is the logical conclusion of
(A).

(C) (A)istrue and (R) is false.

(D) (R) is true and (A) is false and
(R) is not the logical
conclusion of (A).

Which Indian border State has lowest
population density ?

(A) Himachal Pradesh
(B) Rajasthan

(C) Arunachal Pradesh
(D) Jammu & Kashmir

Mark the correct answer for shares of
population in regions of world, in
descending order.

(A) Europe, Asia, North America,
Latin America

(B) Asia, Europe, Latin America,
North America

(C) Asia, North America, Latin
America, Europe

(D) Europe, North America, Asia,
Latin America

J-11-13



22.

23.

24,

Tgad T & e weraradr @

3RS HTeA-5hH o STER 57 H TIET :

(A) A=, JoRE JaRG HTCAl, HIw
3T, & &l g

(B) oM W TH, HIE FAM, JNRA
JARA HTeAl, . AT

(C) TIMH IRE ©Iell, A, T i
T, It 3T

(D) TRT AT =Iell, a9 H G4, 7,
AT, HIH =T

ST eI STee & dey |

TIAHI-1 37 ATHI-11 T FHIT HITT :
Atferent — | Atferent — |1

(@) = o T H@ F (i) 1994
EiGEl

(b) =H uFgESt F (i) 1985
b .

CEL
EQERAIECAGE

() W Tk I TH (i) 1973
T

(d) T =H R awa (iv) 1995
MR e

FT
@@ () (© ()

(A) () () (i) (iv)

(B) (i) (i) () (iv)

(€ (v) () (i) (iii)

(D) (i) (1) (iv) (i)

Afpe (A) ;a9 2009 H dqA B
ol § Ree ¥ 7 9d oo
SR & ToRa T AR ufdper
T TS |

% (R) : TE Wh SR EE &
Tt ToTed | gieg o HROT M E |

FT

(A) (A) Tl &, e (R) Tord & |

(B) (A) 3R (R) g Tora & |

(C) (A) 3R (R) I @&t € |

(D) (A) o &, fsh (R) el & |
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25.

26.

27.

3MIH (A) 3R T (R) 1 TG F

T TIT BT :

e (A) : 9IRA H Yo fova §
TR fRar T ged R STt
forga wifautes TorE & |

% (R) : 399 WmEHs faeron ¥
Tetya Ta o QiR 6T TE |

o

(A) (A) 3T (R) IHT T & |

(B) (A) ¥R (R) sHi Wl & &R (R),
(A\) 1 A1 Fepe & |

(C) (AT 3R (R) T & |

(D) (R) @& & 3R (A) Tord & 3T
(R), (A) &1 dlfehes e &1 & |

O o [T GrATedT T oht STHHEAT
e Tl & 2

(A) TFrmE w=w
(B) ISR

(C) 3TEUIT=e U=t
(D) S

favar & &= o SEET ® TR &
3TERIET T § SATEN

(A) FRU, R, I ST, oifed
ST

(B) Tufemm, W, wifed SR, 3T

(C) ufemm, S o™i, wifed
3T, TRT

(D) T, I SR, URMET, wfeT
ST

Paper-111



28.

29.

30.

31.

Who of the following opined the
concept of Naval Power ?

(A) J.F.C. Fuller
(B) A.T.Mahan
(C) Clausewitz

(D) Chester Bowles

‘Religion is the opium of the
masses.” Who said it ?
(A) V.l Lenin

(B) Karl Marx
(C) Tau Maloko
(D) Mao Tse-Tung

Assumptions of Collective Security
are

l. Wars are prevented by restraint
of military action.

Il.  The aggressor is not always
wrong.

I1l.  The aggressor is not easily
identified.

IV. Aggressor must be stopped.
Codes :

(A) Il and Il are correct.

(B) land IV are correct.

(C) I, Il and IV are correct.

(D) Only Il is correct.

Osama bin Laden was killed by
American Military Commando force
called as

(A) Gestapo
(B) Airtigers
(C) Navy Seal
(D) Cobra force

Paper-I111
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32.

33.

34.

35.

Match the following agency (Table I)
with their respective country (Table
I1) and choose the appropriate code.

Table -1 Table - 11
(@) KGB (i) USA
(b) MOSAD (if) Pakistan
(c) CIA (iii) Russia
(d) ISl (iv) Israel
Codes :

@ (b «© (@
(A) (i) (iv) (i) ()
(B) (iv) (i) (i) (i)
(€ (v) () (i) (i)
(D) (i) (iv) () (i)

Who is the author of the book, “The
Man on Horseback” ?

(A) E.M. Earle
(B) Henry Kissinger
(C) S.E.Finer
(D) Nagendra Singh

In context to continental strategy,
indicate the Autonomous Region of
China

(A) Aksai Chin

(B) Xinjiang

(C) Tibet

(D) Lhasa-Golmo Plateau

Which of the following is not the
member of SAARC ?

(A) Sri Lanka
(B) Myanmar
(C) Bhutan

(D) Pakistan
J-11-13



28.

29.

30.

31.

fr=fefad 5 @ fohae Fa-wifs @ arom
TR Sl 2

(A) . T H. FeR

(B) w3l med

(C) =FwSSaes

(D) ==X A=A

“qf M ST % [T FAEE T 17 T
Tohamr T T 9

(A) 3T A
(B) et RS
(C) <t TRl
(D) T3 -

e G Sl Tl & fF
. A% FRAE W AH TS IS
T T ST & |

[I.  3TSFHUTRRI BHSM TeAd &l gidl |

. STShAUIRI THar ¥ &l e
ST |

V. 3TEHAUEHRI &l 37a9d skl ST

qET |

(A) 13T FEE |
(B) 13RIVEEE |
(C) LNATIVIEET |
(D) FaA T E |

A foq @A B g FEfarEd
3R Qi T 967 §RT 1 TS

(A)

(B) TWIEW
(C) =et gt
(D) e B
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32.

33.

34.

35.

frfefad usi @feter-1) i 33 391
(AeTeRI-1T) & GHfeld ST 3T ggfad
T T T DT :

aferest — | anferest — 11
(@) i (i) 3T
(b) wH M TITE (ii) wirE™
(c) TamT (i) &=
(d) g  (iv) T™REA
T

(=N

@ () (© (@
(A) (i) (v) (i) ()
(B) (v) (i) (i) (i)
€ (v) () () (i)
(D) (i) (v) () (i)

“T B 3 ST AT JEAh & A
HEE 2

(A) Tud A

(B) T fopfasw

(C) was Pl

(D) = &

HEEIdIE Sest & T § W % @
&5 W AT DT

(A) 7 Fom

(B) Fowfsmaim

(C) fasm

(D) rET-TIcHT wig

frfefaa & 9 =9 91 397 91 B Je=
TE?
(A) it
(B) =MR
(C) e
(D) uIfeREA
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36.

37.

38.

39.

40.

Which one of the following location
is known for Organized Crime and
Narco Terrorism ?

(A) Gulf of Mannar
(B) Golden Triangle
(C) Somalian Sea
(D) Andman Island

‘Commonwealth’ group of countries
refers to

(A) Countries with Neutral Policies
(B) Former British Colonies

(C) Developing Countries

(D) Group of Communist Countries

In which of the following countries
Hamban Totta Port is located ?

(A) Bangladesh
(B) Myanmar
(C) China

(D) Sri Lanka

“Joint Working Group” was created
during visit of which Indian Prime
Minister to China ?

(A) Indira Gandhi
(B) A.B.Vajpayee
(C) Rajiv Gandhi
(D) J.L.Nehru

The process of money laundering,
largely involves

(A) Conversion of black money
into white money

(B) Earning huge
foreign banks

(C) Conversion of drug profits into
legitimate money

(D) Conversion of white money
into black money

interests  in

Paper-I111
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41.

42.

43.

44,

45.

Which of the following is not part of
Comprehensive security ?

(A) Food security

(B) Biodiversity

(C) Health security

(D) National interest

Which of the following is not an
element of conflict prevention
technique ?

(A) Mediation

(B) Tribunal

(C) Good offices

(D) CBMs

Which of the following is the main

aim of “Pugwash Conference” ?

(A) Freedom from Racial
discrimination

(B) Environmental protection

(C) Nuclear weapon free world

(D) Elimination of land mines

Which of the following is the pre-
requisite for formal relation between
two sovereign independent
countries ?

(A) State Recognition

(B) Foreign Policy

(C) International Treaty

(D) Membership of U.N.O.

For restructuring of UNO following
are important :

l. State  must renew their
commitment to provide
leadership.

Il.  New resources of revenue must
be developed.

1. Reforms must be occurred.

IV. Member States should look at a
reflection of their own policies.

(A) Only I, Il and IV are correct.

(B) Only I and IV are correct.

(C) Only I, Il and Il are correct.

(D) Only Il and IV are correct.
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36.

37.

38.

39.

40.

frfafea & @ &9 ¥ e = dfed
Y 3R AR STAHAR o [T ST
ST e 2

(A) TR & @ret

(B) @l fepior

(C) Hmern 1 qqx

(D) 3f=HM g

“TregHeA” M & TE F aad &
(A) = Hifg ot 39

(B) W+ feifewt 3uferer

(C) faeprasiier 3o

(D) WEETRT S H TR

“BTS 2ieT Ui fEteiad § 9 o6 I
A fEae?

(A) SRS

(B) =MR

(C) ==

(D) iteiep

o R TaE W5 % 9 S % q9d
“HgeRT 1 ot T TS FoRaT T 2
(A) e e

(B) TS St

(C) it Tiedt

(D) TA. &

“T RSN o UshaAT o1 TF Y

(A) H g9 F THS ¥ | URaEtad
T |

(B) fogeit i & fovmer =T W
FT |

(C) UISh Gai & 3T o &l oY &
T qRafdd T |

(D) THT & H Hd o7 A qRatad
T |
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41.

42.

43.

44,

45.

frefefad & & ®F o1 e gt
T &l & 2

(A) G g

(B) e fafereman

(C) w@rex g

(D) W fea

frefefad & #F @ duy e fafy
T Heh T & 2

(A) T

(B) —ATIEERIOT

(C) T sitea

(D) fowarg fmor 3u™

fAfefEad o @ F A1 “Jar e
H I FLIT § ?

(A) ST S3uTe § gfert

(B) UATERUI &l

(C) wRH] I Taei= fawa

(D) 9fF g 1 foetT=

T WA T TS % A SN
T & o T | & o qanta
I T 2

(A) TST B G

(B) fosen it

(C) oI Tt

(D) F.UA.3W. F T

TIFT T o TR o folw Hererad

qﬁﬂﬁ%

l. T B g USH % forT ST
g ST =T |

. TR & 99 Ganeq fosiaa oy
S =y |

. |ER 31Evd T ST a1 |

V. W& T & AT 6 o 7
et & ufdfens & 3@ |

(A) FaeAl, [ IRIVHE |

(B) wHaet | AR IV T E |

(C) ot |, I 3NN T E |

(D) e Il 3R IV T E |

Paper-111




46.

47.

48.

49.

Assertion (A) : The driving force in
NAFTA is not political elites
but multinational corporations.

Reason (R) : The social, political
and security dimensions we
saw in European Union are
absent from NAFTA.

Code :
(A) (A)istrue, but (R) is false.
(B) Both (A) and (R) are true.

(C) (A) is true and (R) is proper
explanation of the (A).

(D) Both (A) and (R) are false.

Which one of the following is not the
goal of the IMF structural adjustment
programes ?

(A) Restructure and  diversify
productive base of economy.

(B) Achieve balance-of-payments.
(C) Create a base for inflationary

growth.

(D) Improve public sector
efficiency.

International  Boundary  between

India and Pakistan is known as
(A) McMahon Line

(B) Radcliffe Award

(C) LOC

(D) Durrand Line

The most famous component of the
communication theory in
International Politics is

(A) Joseph Frankel

(B) Richard Rosecrance
(C) Joseph Nye

(D) Karl Deutsch
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50.

ol.

52.

53.

54,

Kautilya’s Arthasastra was found in
1905 by which of the following
scholar ?

(A) Sama Sastry

(B) Ram Kishna Sastry
(C) Kirishna Kiriti

(D) Pt. Giridhar Sastry

Piracy is rampant in Ocean areas of
(A) Indian waters

(B) England water

(C) Somlia waters

(D) Arctic waters

Triadic structure of conflict analysis
was propounded by

(A) John Milton
(B) Barry Buzan
(C) Mackinder
(D) Mahan

1, 2, 3, agreement as part of Nuclear
deal was signed between

(A) India-China
(B) India-Russia
(C) India-USA

(D) India-France

Which among the following is
India’s first indigenously developed
missile ?

(A) Akash
(B) Trishul
(C) Agni
(D) Prithvi
J-11-13



46.

47.

48.

49.

Afwe= (A) : TT T TE 3 T H Hoer
v T HRORTH H T A
T TSR ST 0l |

& (R) DT RUE W WS
IR, I 3T GERT 3T
WITFTTHEATHRE |

E T

(A) (A) TE &, Wl (R) o € |

(B) (A) 3R (R) I W&l & |

(C) (A)WIE &R (R), (A) Ff G

T |

(D) (A) 3R (R) I Toid & |

frfefeaa 5 @ &9 @1 o T ' &
G FHEST HrshH &l o6 Tel
g2

(A) e H e iR fafay
SCATEHT STER

(B) T I Wit

(C) TsT Twifd =+t Hafg & fow emum
TAR HET

(D) TIHRT &3 Hf T3 § GER HEAT

TRA 3R TR & g d e
T 1 &

(A) HHHEH AT
(B) Ye-fFw Uame
(C) T T
(D) i emA

MY ToHIG | HUwoT fagid o
TATIH U TH &

(A) SR hehel

(B) f=E Tush—g

(C) SiEw =

(D) &t &=
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50.

ol.

52.

53.

54,

= 9 g fagm s/ @il &0
RIS 1905 H @IS 77T 2

(A) T IS
(B) W foher et
(C) Toem =it
(D) dfed fReR v

U MR &3 H e St et
T2

(A) YRAT e §

(B) 3oig @l SordmT

(C) HHIfeTar ot STordmr §

(D) 3TRiceh I STordmT H

a9 faveluor & Hoefig e w1 gfque
frfefiaa o 9 frdes gRT fohar a2

(A) S Mo
(B) = g9H
(C) #fhex
(D) wed

Y] WIS F AT H T T H 1, 2, 3 WK
T forg-fore 3 eer fopy & 2

(A) HRa-dE=
(B) WRA-&H
(C) WIRA-3TIeH
(D) HRA-HE

frafafad 5 9 &9 91 veurs 9ot 9]
ORA RT <9 ¥ & fereptaa fepam w2

(A) 3Rt

(B) et
(C) &=

(D) et
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55.

56.

S7.

58.

The Atomic reactor of Japan which
was destroyed in 2011 Tsunami was

(A) Fukuyama
(B) Fukushima
(C) Hiroshima

(D) Yamahito

‘Aung San Su Ki’ is leader of
Democratic movement in which of
the following country ?

(A) Tibet

(B) China

(C) Myanmar
(D) North Korea

The Cease-fire Line between India
and Pakistan after 1971 Indo-Pak war
is called as

(A) Line of Control (LOC)
(B) McMahon Line

(C) Line of Actual Control
(LOAC)

(D) Line of Action

Which ethnic group in Ladakh

survives on “Pastoral Economy” ?
(A) Muslim Baltis

(B) Budhist Lamas

(C) Chengpas

(D) Lepchas
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59.

60.

61.

62.

Assertion (A) : The GATT support
the trade liberalization, since
trade is the engine for growth
and economic development.

Reason (R) : Because use of tariffs
as devices for protecting
foreign markets.

(A) Both (A) and (R) are true.
(B) (A) is true, but (R) is false.
(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true, but
(R) is not the proper
explanation of (A).

Instrument of Surrender after 1971
Bangladesh ~ War, was signed
between

(A) Gen Manekshaw — Gen Yahya
Khan

(B) Gen Arora — Gen Niazi
(C) Gen Choudhury — Gen Niazi
(D) Gen Jacob — Gen Tikka Khan

Who is currently the National

Security Adviser of India ?
(A) M.K. Narayanan

(B) Shyam Saran

(C) V.P.Malik

(D) Shiv Shankar Menon

Which one of the following is not the
assumptions of deterrence theory ?

(A) The threat of destruction from
wafare is large.

(B) Decision-makers  are  not
rational.

(C) Alternatives to
available.

war are

(D) Decision-makers are rational.
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55. S9M % AW R So2011 @
A § T B T o

(A) Tpam
(B) g
(C) fexifem
(D) FmIEet

56. ‘3T OH g H EfetEd § 9 o gw
& AR ST o =l & ?

(A) Tasd
(B) =i+
(C) =MR

(D) ST Wik

57. WRd 3R WRHEE & 1971 % IJ§ &
YA T % He i o Y wEerdr
3

(A) T Y
(B) THWEIA @I
(C) dmfess =T 3@ (Tet ot T )
(D) hNEE W@

58. TSR H B HT AT THE TR
ST I ST € 2

(A) I s

(B) g o

(C) =

(D) e
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59.

60.

61.

62.

AHYA (A) Tic T AUR ITRIFT
H g A, i AR Gghs
3T a7féreh T ot 3 & |

a# (R) : it fagelt IR @
gRm & ot uh U™ & ¥ A

2R T ST € |
(A) (A) 3R (R) I T E |
(B) (A) W&l &, 9ifh (R) TeAd & |
(C) (A) Terd &, 9T (R) Wl & |

(D) (A) 2R (R) s W&l €, i
(R), (A) & 3fad =ame & ¢ |

g 1971 & IFARY I % I felrad
T X H=TeIRad = g% 6 4

(A) SFRA HHHIE — A IRl @l
(B) SR 3RS — SR TSt
(C) SFRet =Rl — SHRet st

(D) SRS STohd — SR TeahT @i

IRT T TLT G FARHR aqq= |
HF§ 2

(A) THF, AREUH

(B) vam WA

(C) @4t afetss

) BRNERETR:EE]

frfafed & @ = @ oReea
FATSIE 5T ol el € 2

(A) 58 o T e |

(B) Fofa o aret foaent & € 1

(C) T Hiaweatd |

(D) o o= ot foaant € |
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63.

64.

65.

Choose the appropriate code for the
Assertion (A) and Reason (R) as
given below :

Assertion (A) : National Security
means the ability of a nation-
state to protect its values from
external threats, no matter what
form the later may take or what
quarter they may appear from.

Reason (R) : The danger to national
security lies in the ‘hidden
hand’ and not in the *foreign
hand’.

Codes :

(A) Both (A) and (R) are correct,
but (R) is not the reason of (A).

(B) (A) is correct and (R) is not
correct, but (R) is the reason of

(A).
(C) Both (A) and (R) are not
correct.

(D) (A) is incorrect and (R) is
correct.

Pir Panjal Range belongs to
(A) Eastern Bhutan

(B) The Kashmir Valley
(C) Barahoti Sector

(D) Nathu La Border

Identify the correct sequence of
Army Chief of India in chronological
order.

(A) Gen. Thapar, Gen. Sundarji,
Gen. Cariappa, Gen. Choudhury.

(B) Gen. Cariappa, Gen. Thapar,
Gen. Choudhury, Gen. Sundarji.

(C) Gen. Choudhury, Gen. Cariappa,
Gen. Thapar, Gen. Sundariji.

(D) Gen. Sundarji, Gen. Cariappa,
Gen. Choudhury, Gen. Thapar.
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66.

67.

68.

69.

70.

Who among the following is
associated with the development of
Neo-Realist Theory ?

(A) HansJ. Morganthou
(B) Mortan A. Kaplar
(C) K.N.Waltz

(D) James N. Rosenau

Which of the following country has
adopted terrorism as a tool of its
foreign policy ?

(A) Myanmar
(B) Pakistan

(C) Nepal

(D) Saudi Arabia

Which of the following is known as
Chemical weapon ?

(A) Petro-Gas
(B) Mustard Gas
(C) Methane Gas
(D) Helium Gas

Treaty of Versailles was signed in the
year

(A) 1920
(B) 1918
(C) 1919
(D) 1921

“Tulagma’ Tactics was introduced in
India by

(A) Chengiz Khan

(B) Mohd. Ghori

(C) Mohd. Bin Quasim
(D) Babar
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63.

64.

65.

=1 efyerem (A) Ten @& (R) & fod
3o e & === AW

AMHY (A) - T RN H1 - acad
LI & 39 &7 | ¢ e
FRT 98 T8l TRl § 379 et &b
T T W A1 I8 ThA! A T H
3R Toredt oft foom & ke & |

% (R) (UL g H G
‘o0 e’ @ & 7 o ‘e 9 |
C T4

(=N

(A) (A) &R (R) 3T @ &, b= (R),
(A) T HROT T € |

(B) (A) W&l & @ (R) Toid €, W
(R), (A) T FRITE |

(C) (A) 3 (R) =i W&l &l & |
(D) (A)TTord & e (R) W&l & |

R UST @ veTedl Hetared § o
T <1 =l € 2

(A) T e

(B) wYHR =Tet

(C) ~RErT &

(D) = o |

T A H WA o ITU-Teael i Tal
A IR ST

(A) SRS AR, SRl Ge¥stl, SHRet
HICSTOT, ST =TT

(B) STReT SRS, SFRET AT, ST

e, SReT GaXstt

(C) STReT e, SReT HRI,
ST TR, STReT Yaesh

(D) SR WIS, STRGT  hiLaTo,

J-11-13

21

66.

67.

68.

69.

70.

frfoafad 9 @i T & fagr
% oo | Geg & 9

(A) T, AN
(B) TIA T HUCK
(C) T amees

(D) S WA I

frefetea o @ g g = o faser
qifq § 3MdhaE &l Uk e & & |
AT E 2

(A) =R
(B) uifeRea
(C) U=
(D) W3R RS

fFeffEa 9 9 58 WA TS S ' H
ST ST € 2

(A) ugi
(B) T=EIW
(C) HIA-Tg
(D) @ferm-irg

T T WY T AR fHT M0
(A) 1920
(B) 1918+#
(C) 1919H
(D) 1921H

IR § Tl I0EIT SR i T8
(A) =S ©@F ERT
(B) TiEHE TR gRT
(C) wemg o= HifaT gRT
(D) <= ENT
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Read the passage given below and
answer the questions that follow
based on your understanding of the
passage.

Mahatma Gandhi understood
the true nature of nuclear weapons
when he sait that “Those nations who
have atom bombs are feared even by
their  friends”. From the very
beginning, nuclear weapons were
instruments of terror and were used
for coercion. Security with nuclear
weapons is achieved through creation
of insecurity in the minds of other
States. This is obviously a fragile
basis for establishing peace and
security. But the problem is that if
one State possesses nuclear, the only
option for other countries to defend
themselves against the threat of such
weapons to acquire similar weaponry
to deter possible use. Mahatma
Gandhi, with his deeper
understanding of human nature and
affairs of men and states, had
recognized from the very beginning
that the atom bomb played a political
role. Contrary to what might have
been expected of the apostle of
peace, he did not react for months, at
least publicly, to the use of the atom
bomb in Japan. However, his concern
about its nature, especially as a
horrendous  weapon of  mass
destruction, was intense. He was to
later describe it as a diabolical
instrument of violence. But for
months after the bombs were
dropped on Hiroshima and Nagasaki,
he kept silent because his concern
was about the possible “use” of the
atomic bomb to deny India its
independence. It was only after the
commitment to India’s independence
became unambiguous that he came
out against the bomb publicly.

71.

72.

73.

74.

75.
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Nuclear weapons are the instruments
of

(A) Faith
(B) Deterrence
(C) Politics

(D) Mutual Suspicion

Mahatma Gandhi had recognized that
the atom bomb played

(A) Political role
(B) Military role
(C) Economic role
(D) Abstinence

Which one of the following is a
diabolical instrument of violence ?

(A) Terror

(B) Threat

(C) Atom bomb
(D) Leadership

Mahatma Gandhi came out against
the bomb publicly

(A) Before India’s Independence
(B) After India’s Independence

(C) After the commitment to
India’s independence

(D) During World War 11

The central message of the above
passage is

(A) Nuclear weapons are the
instrument of peace.

(B) Nuclear weapons are the
instrument of deterrence.

(C) Nuclear weapons are the
instrument of faith.

(D) Nuclear weapons are the
instrument of terror.
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